For more free Study Material, Mock Test Papers, Audio & Video Tutorials and ssc news visit

www.ssc-cgl2014.in

Fill in the blanks to make the statement true:-

3 -5 _‘3 §
5 10| |5
-5 4
&) & B) 3
8 3
©) 2 D) 5

How many of the following numbers are
divisible by 1327

264, 396, 4, 762, 792, 968, 2178, 5184, 6336
[A) 4 B) &

(C) & (D) 7

If the numerator and the denominator of a
proper fraction are increased by the same
quantity, then the resulting fraction is
[A) always greater than the original fraction
(B) always less than the original fraction
(C) always equal to the original fraction
(D) None of the above

A common factor of (41" + 43%) and
(41" + 43" is

[A) (43 - 41) (B) (414 + 43

(C) (41% + 434 (D) (41 + 43)

Given that 4A = 333" + 555**, then A is
divisible by
(A) 2

(C) 37 (D) All of these

There are five numbers. HCF of each
possible pair is 4 and LCM of all the five
numbers is 27720. What will be the product
of all the five numbers?

[A) TO96320 (B) 7906320

(C) 7096230 (D) 7903620

Given that -31|'3.1- = G/
find the value of 2xy —

(B) 3

and #sv = /3, then

(A) 2 (B) 3

(C) -3 D] 5

If 15, 5 and 7* are in A.P. and also in G.P.
then the value of "x' is

(A) O (B) 1

(C) 2 (D) 4

In the class of 100 students, the number of
students passed in English only is 46, in
Maths only is 46 and in Commerce only is
58. The number who passed in English and
Maths is 16, Maths and commerce is 24
and English and commerce is 26, and the
number who passed in all subjects is 7. Find
the number of the students who failed in
all the subjects.

(A) 13 (B) 8
(C) 9 (D) 7

10.

11.

12.

13.

14.

The 6" term from the end of the geometric

. 1 1
progression 8, 4, 2, 1, 5° 4 1024
A ! B
O B)

C) — Dl —
(C) 32 (D) 64

A person divides his total route of journey
into three equal parts and decides to travel
the three parts with speeds of 20, 15 and
10 km/hr respectively. Find his average
speed during the whole journey

11 11
(4) 132 km/h  (B) 1175 km/h
0) 132 km/h (D) 11— km/h
(C) 13-5 km/h (D) 1177 km/

If the ages of P and R are added to twice the
age of Q, the total becomes 59. If the ages of
) and R are added to thrice the age of P, the
total becomes 68 and if the age of P is added
to thrice the age of Q and thrice the age of
R, the total becomes 108. What is the age
of P?

[A) 17 yr (B) 19 yr

(C) 15 yr (D) 12 yr

A person covers 20 km distance with a speed
of 5 km/hr, then he covers the next 15 km
with a speed of 3 km/h and the last 10 km
is covered by him with a speed of 2 km/h.
Find out the average speed for the whole

journey.

3 3
(A) 377 km/h (B) 717 km/h
C Sikm h D 311{111 h
(C) 55 km/ (D) 3. km/

A jar full of milk contains 40% water. A part
of this milk is replaced by another mixture
containing 19% water and now the
percentage of water is found to be 26%. The
quantity of milk replaced is

1
(A) B) 5

~w Wk

4
(©) D) =
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frfafaa Fam =t wdt w0 89 @t wwE

R ‘Ex__5|=|gm
EFTEH:S lﬂ 5 """
A > B &
= ® 5
C§ ElE
© 3 D) 5

frefafaa o o faoet 9= 132 9 famfaa & -
264, 396, 4, 762, 792, 968, 2178, 5184, 6336
(A) 4 (B) 5

C) 6 (D)7

af% T arEtas 99 F ow &7 = § oue o =
SE S, W T e WE T fa= o oam

(A) 5 == &M g= fa= |

(B) EHEN =11 & HE A= |

(C) woem = T oaE fam w

(D) 779 | =1 T

(419 + 4349 TF (41% + 43%) F TUH TR F-

(A) (43 - 41) (B) (41" + 43%)

(C) (41 + 43" (D) (41 + 43

afT 4A = 3335 + 555" €, @ A fawifwm # -
A)24 B)34

()37 (D) T+t =

wie w4 TS €1 3 o et i w1 vt % g
1 Hode 4 AR T W9 =N = #eHo 27720
# == it ofe HEms w1 TAEE ¢ -

(A) 7096320 (B) 7906320
(C) 7096230 (D) 7903620

A §3x =51 gou = ZE A 2y FEAE -
A) 2 (B)3

(C) -3 (D) 5

7lE 1%, 55" 7 WEFG S0 U WE E W o
guit | B, A X FAA B -

(A) O B) 1

(C) 2 (D) 4

100 Bt % T =1 |, faF =7t | 46, faw 7m
¥ 46 TF TO¥ = 9 58 T I g0 #) S
e nfma ® 16, 7 wE e | 24 e o0 5
Aftra & 26 @ ST 7Y s A wit e § st
T = B W W 7 o Wt 0 e w9
AT BE F GEN E -
(A) 13

(C)9

(B) 8
D) 7

10.

11.

12.

13.

14.

fam Mo iR Avfl w1 sifm d v wE § -
1 1

274777 1024

1

() 5 B) 16
R R
(© 32 ) 62

TF SfE AT A T FIOAH A G R OE 5
F1 A aEr qn H s e E e 2 aE 9
T AT 20, 15 73 10 fFodtom2 #1 fa 2 73
FIA E, A OGN A F AN SERT 2AEa T oft-

(A) ]3% FRotiom (B) 11% fRotoe g2

3 " 3 .
(C) 135 fRetllors2 (D) 117 Fferlors

oz PUE R e o1 F QFT a7 F 3 T A S
|, T we g 59 ) AR Q A R® A g F
P a7 % A 0 | gl S A w1 A 68w
% AfT P #Y o F Q FT A F T 0 v R
W F @ N F S S a FwE 9 108 #m, @

P& & ¥ -
(A) 17 =4 (B) 1934
(C) 1534 (D) 12 3

TF =Afam e 20 fFerte =t T 5 oo T
nfe |, 7 st 15 fRewte F13ft 3 fRordto s w1
nfa & vF wfag 10 fEedte #1 it 2 fFodters2 #1
nft B, A9l S A e sl o -

3 . 3 a0 e
(A) Eﬁﬁunﬁumﬁ (B) ?ﬁ fwoHteHe

3 . S L "
(C) EEﬁﬂ:ﬁm’Eﬁ:ﬂ' (D) 3ﬁﬁ€c~'ﬁﬂc.’ﬂ?

7 H w2 A 40% 9 #17 fogm F w5
| A 19% T e gy fagm g faeafra fem
T, fomE wEeEEn qa fmem § @\ F ufavm
26% B T, 7 Taeenfun faw maogu w oA E -

2 1
(A 3 B) 35
3 4
© O) -
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15. The price of an article is cut by 10%, to | 22. A and B together can finish a job in 10 days
restore to its original value, the new price while B and C together can do it in 18 days.
must be increased by: A started the job and worked for 5 days, then

| B worked for 10 days and the remaining job
(A) 10% (B) gﬁ% was finished by C in 15 days. In how many
days could C alone have finished the whole

16 f::l:lul;;ﬁman pays ¥ ?LEG;ir litre for milk job?

He adds water and sells the mixture at F 8 (A) 30 days (B) 15 days

per litre, thereby making 37.5% profit. The (C) 45 daya o (D) 24 dayn o
proportion of water to milk received by the 23. The rate for admission to an exhibition was
customers is 7 5 and was later reduced by 20%. As a
(A)1:15 (B)1:10 result, the sale proceeds increased by 44%.
(C)1:20 D)1:12 The percentage increase in attendence

17. A garment company declared 15% discount was!
for wholesale buyers. Mr. Sachdev bought (A) BO (B) 24
garments from the company for § 25000 (C) 64 (D) 20
after getting discount. He fixed up the | 204, Ap aeroplane first flew with a speed of 440
selling price of garments in such a way that km/h and covered a certain distance. It still
he earned a profit of 8% on original company had to cover 770 km less than what it had
pri_::e. What is the approximate total selling already covered but it flew with a speed of
price? 660 km/h. The average speed for the entire
(A) ¥ 28000 (B) ¥ 29000 flight was 550 km/h. Find the total distance
(C) ¥ 31000 (D) ¥ 29500 covered.

18. Sunder purchased an office bag with a price (A) 3250 km (B) 2750 km
tag of § 600 in a sale where 25% discount (C) 4400 km (D) 1375 km
was being offered on the tag price. He was 25. A train travels a distance of 300 km at a
given a further discount of 10% on the d. If the speed of the train is
amount arrived at after giving usual 25% Funstant spee Pe .
discount. What was the final amount paid increased by 5 km an hour, the journey
by Sunder? would have talfen 2 h less. The original
(A) Z 210 (B) T 540 speed of the train was
(C) ¥ 405 (D) T 450 (A) 25 km/h (B) 20 km/h

19. The ratio of the prices of two houses A and (C) 28 km/h (D) 30 km/h
B was 4 : 5 last year. This year, the price of 26. A boat travels upstream from B to A and
A is increased by 25% and that of B by dmirnstreanjl frm?n AtoB ]En 3 h. If the speed
< 50000. If their prices are now in the ratio of the boat in still wa_a.ter s D kin/h s..nd the
9: 10, the price of A last year was speed of the c'urrer_lt is 3 km/h, the distance
(A) ¥ 360000 (B) T 450000 between A and B s
(C) T 480000 (D) ¥ 500000 (A) 4 km (B) 8 km

20. Three partners invested capital in the ratio (C) 6 km (D) 12 km
2:7:9. The time period for which each of | 27. A screw driver and a hammer currently
them invested was in the ratio of the have the same price. If the price of a screw
reciprocals of the amount invested. Find the driver rises by 5% and the price of hammer
share of the partner who brought in the goes up by 3%, then how much more will it
highest capital, if profit is ¥ 1080. cost to buy, 3 screw drivers and 3 hammers?
(A) ¥ 120 (B) ¥ 360 (A) 3% (B) 4%

(C) T 540 (d) T 420 (C) 5% (D) 8%

21. A circular running path is 726 m in | 28. If § 1000 be invested at interest rate of 5%
circumference. Two men start from the and the interest be added to the principal
same point and walk in opposite directions after 10 yrs, then the number of years in
at the rate of 3.75 km/h and 4.5 km/h which it will amount to ¥ 2000 is
respectively. When will they meet for the
ﬁ]’Et tlmE? . {A.] 16 E_".FTE {Ei l'El'l vrs
(A) 5.5 min (B) 6.0 min 3 4 -

(C) 5.28 min (D) 4.9 min (C) 16 yrs D) 11 yrs
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16.

17.

158.

19,

20.

21.

TH T5 F o9 § 10% T FH =1 W E, 9 0 g
%] URfaF g7 ¥ W w1 vy fEe wfoem mmm

gm?

1
(A) 10% (B) gﬁ%
(C) 11% (D) 90%

U M S T 6,40 WA w2 w1 5 A gy wdiem
T =% IEH 9l T ¢ S aeavEn e ¥ 8
WA e FT =1 9 F9a1 & 3 38 WE 37.5% &1 @
aifsia A &, TYdE g w9 A T e
§ ot UF 39 1 I F -

(A)1:15 (B)1:10

(C)1:20 D) 1:12

T T FAH A w9 R W 15% F 22
T T # o TR w5 T 25000 T F (W
% W) =6 wWiEd €1 A 39 ge w1 fawl gy I
He F941 % HA Hed H 8% "EL AfFa F
7,0 =% g A W A 29 = w1 fe fal

e B -
(A) ¥ 28000 (B) ¥ 20000
(C) ¥ 31000 (D) ¥ 29500

FHAeE ST Bg Tt UF w47 @i ¢ e st
T T 600 ¥ 3 3 77 W 25% Ft 72 fom
71 25% T F A% 9 §eF fwem £ 58 W R 10%
Fanfm E @t m Wi @
(A) ¥ 210 (B) ¥ 540

(C) T 405 (D) T 450

firet and =1 T A B ®1 Si0a #1 ST 40 5
9l T3 9, AT FHa H 25% FI U9 BFI Fwigd °
¥ 50000 #1 35 g¢ 4N woraey TS FAal
F ATIT 79 9 10 w1 T, 7 fouww 9€ A w=t
Fioa off -

(A) ¥ 360000 (B) ¥ 450000

(C) T 480000 (D) ¥ 500000

A |IEER 2:7:9 % #9E W =R § e s §
T g T = =R | e o wmm o
AqIA = g Frafem oferi # =era % s %
TOE #1 4fE F @ ¥ 1080 ¢ A wEites o W
FIH A AEER F A @ E -

(A) ¥ 120 (B) ¥ 360

(C) T 540 (d) T 420

TF FAER 3 99 w9y 726 e w # A D
=AfF uF # W W wuw: 3.75 fRotte M uF 4.5
fRodtoa2 &1 WA & fawim fewell ¥ =e 1= &0
% o A ggelt an fwadt 21 an fue?

(A) 5.5 fore (B) 6.0 fie

(C) 5.28 Tz (D) 4.9 firre

23.

24,

25.

26.

27.

28.

ATEBTEE I w sm F oA F s B wE C
foemt =6t wm w1 18 fAl d & wwa § oA wm
FA1 I[E F41 7 30 5 {5 7% FW w71 96w
= B, 10 &4 9% =™ F@ # 31 99 =W = C,
15 feil W ot Fwm #1 C F oFA 30 @ FH F

F0 | T we -
(A) 30 fa= (B) 157
(C) 45 == (D) 24 A

TF WEIHT O WEY IeF T 5 o1 3N 3| T 20% FH
=2 fan e & fomm wereey fome fa 9 9 =R
Fol A 44% w7 M8 &, @ fowe fast 1 wema
¥ i wimm afz #

(A) 80 (B) 24

(C) 64 (D) 20

TF TR e 440 fFomio/ s &1 0 & 324 7 H@
T 7 F # T 5 ot | A g0 o ow, =
T #t artan 770 fRordte ww Th I anvdt ok T
F 71 4 50 98 660 fHotitodE w1 1 @ 71 w1
#1 afz g % Fe seE e i 550 fRoriomR
tA A w g ¥ -

(A) 3250 fimetite (B) 2750 fFoite

(C) 4400 fF oo (D) 1375 fFedto

TF MR 300 fFedte F1 T uw yom Afa A T
FAl 21 afs TmEl w1 W = 5 oo mwy &
T AT A FH 2 °E w5 wEE e el
FreAtaF A ¥ -

(A) 25 TeRodto =2 (B) 20 fFedtomz

(C) 28 oo =2 (D) 30 fFedterdz

TF A oW Fi A e | B9 A TS 9w wi fEm
YA RB W T FE 39 79w €A e 9=
T T w9 fEedfies? ¥ s wm #t wfa 3
fFotito/m2 2 @A 3R B & w9 %1 51t 2

(A) 4 fFomto (B) 8 fF oo

(C) 6 fFodte (D) 12 fiFetto

TF YAFH UF UF gdlE &1 199 UF 5OH 21 4
T W G 5% wEAl € U v w1 gy 3% qEh
T 3 Yawa Ud 3 vdE wiEd | sm wA e
(A) 3% (B) 4%

(C) 5% (D) 8%

Ife F 1000 F1 5% TF =09 F1 7 | Frafm fFn
T S HA W 10 TG F A qeE o S 9
A Fo TR a9 % =% =8 0 T 2000 = A0

2 1
{A]lﬁgaﬁ (B) 16 Ll

(C) 16 = (D) 11 =4
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29. The difference between the compound | 34. A railway passenger counts the telegraph
interest and the simple interest on a poles on the rail road as he passes them.
certain sum of money for 2 yrs at 15% per The telegraph poles are at a distance of 50
annum iz ¥ 45. Find the sum. m. What will be his count in 4 h if the speed
(A) ¥ 7000 (B) T 2750 of the train is 45 km/h?
(C) ¥ 2000 (D) ¥ 2250 (A) 2500 (B) 600
30. Railway fares of lst, 2nd and 3rd classes (C) 3600 (D) 5000
between two stations were in the ratio of | 35. Hyderabad Express which goes from
8:6: 3. The fares of 1st and 2nd class were Hyderabad to Chennai, leaves Hyderabad at
1 1 5:30 am and travels at a constant speed of
subsequently reduced by — and -, 50 km/h towards Nalgonda which is 100
& 12 _
km away. At 6:00 am, Nalgonda Express
respectively. If during that year, the ratio leaves from Nalgonda for Hyderabad at a
between the passengers of 1st, 2nd and 3rd constant speed of 40 km/h. At 6:30 am
classes was 9 :12 : 26 and total amount Mr Shah, the Control Officer realizes that
collected by the sale of tickets was ¥ 1088, both the trains are on the same track. How
then find the collection from the passengers much time does Mr Shah have to avert the
of 1=t class. accident?
(A) T 260 (B) ¥ 280 (A) 20 min (B) 30 min
c) ¥ 300 (D) ¥ 320 (€) 25 min (D) 15 min
31. A and B enter into a partnership with 26, At E;:s Exa;a::}ma‘:lm: lllrjl%virhlcltlhma;lrgun:
% 50000 and ¥ 60000 respectively. C joins 2‘5‘1; mzrri e c%a? & got ;g;j h:; ﬂ;anggl
them after x months contributing § 70000 If A got 360 marks, what percentage of
and BI:-EE.I:’E'S thnnﬂhm hefcrrre .thel‘fl-nd cl!.'thef marks was obtained by D?
year. It they share the profit in the ratio o
20: 18 : 21, then the value of xis A 60 (B) 72
) 3 B9 (C) 55 | (D) 80
37. Anuowes Biresh ¥ 1120 payable 2 yr hence,
€6 D) 8 Biresh owes Anu T 1081.50 payable
32. C is twice as efficient as A. B takes thrice 6 months. If they decide to settle their
as many days as C. A takes 12 days to finish accounts forthwith by payment of ready
the work alone. If they work In pairs (ie, money and the rate of interest be 6% per
AB, BC, CA) starting with AB on the first annum then who should pay and how much?
day, BC on the second day and AC on the (A) Anu, F 70 (B) Biresh, ¥ 50
third day and so on, then how many days (C) Anu, ¥ 50 (D) Biresh, ¥ 70
are required to finish the work? 38. A sum of money becomes eight times in
3 yr, if the rate is compounded annually. In
1 .
(A) 6 = days (B) 4.5 days how much time the same amount at the
= same compound interest rate will become
1 sixteen times?
(C) 55 days (D) 8 days (A) 6 yr (B) 4 yr
(C) 8 yr (D) S yr
33. Three pipes A, B and C can fill a tank in | 39. Ahorse and a carriage together cost ¥ 3000.
20 min, 10 min and 30 min respectively. If by selling the horse at a profit of 10% and
When the tank is empty, all the three pipes the carriage at a loss of 10%, a total profit
are opened. A, B and C discharge chemical of 2.5% is made, then what is the cost price
solutions x, ¥y and z respectively. The of the horse?
proportion of solution y in the liquid in the (A) T 3000 (B) T 3500
tank after 3 min is (C) ¥ 4000 (D) ¥ 5000
40. x and iy vary inversely with each other.
E 1 When xis 12, yis 9. The pair which is not a
(4) (B) . . X
11 11 possible pair of corresponding values of x
and iis
€ 8 D) 9 (A) 9 and 12 (B) 18 and 6
11 11 (C) 24 and 18 (D) 36 and 3
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20, TF Tifras fn W 15% WiEE s W 29w | 34, TEWED ¥ A FI € UF A A0 T = w5
F WalG = U5 HEE0 = S0 T 45 2 A et e 21 Fefors # =9 uF g 9 50 Hew #
= T # - T W | A T i 45 fFodo MR E A 45
(A) ¥ 7000 (B) T 2750 T B T T S w6 S g -
(C) T 2000 (D) T 2250 {él iggg {E? gg”m
30 ﬂm?ﬁﬁ@i@wﬁ?mw 35. fﬁ%ﬁﬁmmhﬁégﬂmﬁma
F1 390 8 : 6: 3% WEE 7 U TR 7S ® fRE 5:30 7 TAE W F U 50 FredtorsE F v
OIS RNPYD ST U R . T R # AR # e Set ®, S & 100
"6 12 = S oo T 1 AT TEEER, W fF A 9
T UF At TS § A FA A Al S gt FmarE =, 6:00 79 AT A @ WA ¥ s
mwg;lgzgﬁtﬁsﬂtmmWﬁﬁqﬁ 40 fHodfio/sd =1 UF ®WOA WA ¥ wew 2
fart @ % o o1 T 1088 o, 1 e =S ® fowa 6:30 7t [, At ;e i FF weer feem
#1 faat A of w o - Hﬂ:?%ﬁlﬂ%,qm%‘g;m%ﬁ' ol o @ W
THL & AN = | HE F 9H TFEL TEA
(A) T 260 (B) T 280 %mﬂw%?
(€) X 300 (d) ¥ 320 (A) 20 fa=z (B) 30 fa==z
31. A TS BwWe: ¥ 50000 U5 ¥ 60000 F WY TF (C) 25 Tz (D) 15 fire
| =R # fE e €1 C, xWEH 9% T 70000 | 36, ww witen ¥ famd sifuwan % 500 ¥, A% BH
F WY IH AR A S[Ea ¢ 9= B 99 aura w4 10% FH 3% 99 2 &, B=I C ¥ 25% #fu= 3i%
F x W TEE I8 wEEE | " v wm # afy W BH E T C 1 D 20% W 3F WA EH 5 AR A
TTH A H ST 20 : 18 : 21 #, @ x F1 360 7% W9 =0 8, W D 3 s s o ¥
S (A) 60 (B) 72
(C) 55 (D) 80
w3 B 9 37. o, fate @ e of 2 9 i TR o §, 2 99 A
(C) & (D)8 ft | dkeld ¥ 11203 s uF faim, = 9 9 #2
32, C, A aq 7 N FW HA 21 B e w7 fen TR = #, 6 W AT o e T 1081.50
F1 FE H C FT A9 T T[N TH T 2| A S = ST A A U T F IO F S 5
mEAF 12 A d T b R a a2 d (59 aB, = 3 == F1 3 s 6% w0 A T A
BC, CA) 7 F11 urv #%t #, 7eet fa7 AB 75t 3 et .
fiq BC ud it fam ACI w1 et @ afs 9t ww (A) #1, T 70 (B) fat, T 50
<o T A A v W wa TR fam e (C) #11, T 50 (D) fa, T 70
) 38. W T TEYS =W F AMGE W H 379§ 512 R
W 6 ¢ e (B) 4.5 A 7 e # o = e T ety e A
= H 16 O B AN
1 (A) 6 7 (B) 4 =7
(€55 T (d) 8 T (C) 8 = (D) 5
33. W A A, B W C T #41 F ww: 20 frz, | 39 T A T I M = 7w ww T 8000 1 4f
10 2 wH 30 fz o i WA #) W@ 21wl o, TS F10% % A T WM F 10% Fi #
o S e %) g T A T A, BUE C R T A= A A WS 2.5% B A W v ¥, wrg
ST TR 55 x, y U z e £ @ 3 e & E?Sﬁf B 7 3500
R T F FA 5 Ty F WAL F- (C) T 4000 (D) T 5000
6 7 40. xTUH yUF THL F FAEHIEAIA &1 99 xF AE 12
T B 11 % y® wA 9 %) frefafen § | =9 @ g ween
xTE yF 9F &I 7 TRl
(€) 121 {D:% (A) 9 & 12 (B) 18 ¥ 6
(C) 24 =i 18 (D) 36 377 3
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333 &+t &t F &+t &+ & & F &t 11
41. The sum of two numbers is & times their | 48. A person invested some amount at the rate
geometric mean. The ratio between the of 12% simple interest and a certain
numbers is amount at the rate of 10% simple interest.
He received yearly interest of ¥ 130. But if
A) (3-242): yeatl
(A) 3-2v2): 3+ 21@' he had interchanged the amounts invested,
(B) |3+2\E} : [3—21."5] he would have received ¥ 4 more as
interest. How much did he invest at 12%
([C) (2+342):(2-342) simple interest?
— (A) ¥ 700 (B) ¥ 500
D) (2-34/2):(2+ 342
(D) (2-342): (2+342) (©) T 800 (D) T 400
42, In an examination, Mohit obtained 20% 49, If 15 men or 24 women of 36 boys can do a
more marks th_an Sushant but 10% _IEEE piece of work in 12 days, working 8 h a day,
marks than Rajesh. If the marks obtained how many inen must be assoclated with 12
by Sushant are 1080, find the percentage WoImen ﬂ;‘].d 6 boys to do another piece of
marks obtained by Rajesh if the full marks .
1
are 2000. work 2 — times as great in 30 days working
(A) T2% (B) 86.66% 4
(C) 78.33% (D) None of these 6 h a day?
43. Two cogged wheels of a vehicle of which one (A) 4 (B) 8
has 16 cogs and the other 27, work into each (C) 6 (D) 10
GEINT, S5 the lattf_-r turns 80 times in three 50. Divide ¥ 1586 in three parts in such a way
quarters of a minute, how often does the that their amounts at the end of 2. 3 and
other turn in 8 s? . T
4 yr respectively, at 5% per annum simple
(A) 26 (B) 25 interest be equal
(C) 24 (D) 27 A) ¥ 552, ¥ 528, ¥ 506
44.  40% of the students in a college play Basket ) ’ '
ball, 34% of the students play Tennis and (B) ¥ 560, ¥ 520, ¥ 506
the number of students who play both the (C) ¥ 556, F 524, F 506
games is 234, The number of students who
pPlay neither Basket ball nor Tennis is 52%. (D) T 548, Y 628, Y 510 .
Determine the student population in the 51. The two banks of a canal are straight and
college. parallel. A, B, C are three persons of whom
(A) 800 (B) 1050 A stan‘fits. Dnhcmekha.nEk a;ddE a.r:i C on tl'lle
(C) 900 (D) 850 opposite i an . inds e angle
45. In a certain store, the profit is 320% of the £ABC = 30", while C finds that the angle
cost. If the cost increase by 25% but the ZACB = 60° . If B and C are 60 m apart, then
selling price remains constant, find the width of the canal.
approximately what percentage of the (A) 32 m (B) 62 m
selling price is the profit? (C) 26 m (D) 23 m
(A) 30% (B) 70% A . )
(C) 100% (D) 250% 52, Fn KYZ:;-{M; ’:he}(:;secttct:f clf_t_.«_’ i(;n‘?hﬁE
: : : iz perpendicu o , cutting it at D. Then
46. TWD.PIPES P a.n_d Q can t__ﬂl acistern in ?’and which of the following relations hold true?
& min respectively, while an empty pipe R
can empty the cistern in 4 min. All the three (4) XD = DM (B) YM = MZ
pipes are opened together and after 2 min [C] XA=XB (D) DM = BZ
?L::EE R 18 closed., Find when the tank will be 33. AABC is a right-angled triangle, right
) . . angled at ZB, D is a peoint in AB, and
(A) 3 min (B) & min
: : 1
(€) 5 min (D) 8 min BD = BC = 33 m = — (AD + AC). Find the
47. Ifa, b, care in A.P. and x, y, = are in G.P. 2
then b9 yle-d gla-8 jq area of the triangle.
(A) O (B)-1 (A) 762 m* (B) 276 m*
€)1 (D) 2 (C) 726 m® (D) 672 m*
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42,

43.

45.

46.

47.

=1 HEE F1 AN SAF Ui AEE #5160 21 5
= HemE w1 A E -
(A) 3-242):(3+242)
(B) (3+242):(3-242)
(C) (2+342):(2-342)

D) (2-342):(2+3V2)

TF WA H, Wifed A HIA H 20% Afaw T T
¥10% %0 si% wa faw =fz geva 9 1080 %
T o, & WS g W s w7 ufaee fEe e,
Tt wffirram 3% 2000 £7

(A) 72% (B) 86.66%

(C) 78.33% (D) 379 & *E 7=l

T ME F T wan wien, s vE e A 169w
& UH T W 27, U M YA €1 4 | wen afe
T e % <o um F 80 9@ T #, | T
afem 8 #wvz o fEa aw gam?

(A) 26 (B) 25

(C) 24 (D) 27

T AR W 40% B T A Wern €, 34%
TEN 234 TS9O W N E A " 6 A
o Bem €, 52% 7 Heaeer § urE s Hen © -
(A) 800 (B) 1050

(C) 900 (D) 850

TH THEE o1, @ w1 320% #1 9% @ 25%
= & W fawt qe Ad wa g, 6 e, faw g
=1 T e wfem &7

(A) 30% (B) 70%

(C) 100% (D) 250%

=1 Aferdl PUA Q UF 21 F A9 3 TH 6 e W
Al #, Few uF FE R @ 9 g I Al 4 62
A L T §1 39 A AT 1 U 9 e T
A 2 fie & & 7o R %1 9% %1 faa 4 fwed
ST H TR 9T A -

(A) 3 firz (B) 6 firz

(C) 5 fa= (D) 8 fa==

ﬂﬁ.’ﬂ:, b,cwﬁﬁﬁx,y,zﬂuﬂ?r{ gt o w1
Al byl o o B F AqF F -

(A) O (B) -1

()1 (D) 2

49,

50.

51.

52.

53.

v = A 12% wihed wame s w5 2w
ufe =1 fEw fea oin =2 of =1 10% wfa =
AR = 1A | S wfeed F o130 = v
T ¥ Afx = e w1 W oo swen-aes W
it A T e # B T 4w sifus frem) T
12% i =3 | fea=t ufen =1 faaw fea?

(A) ¥ 700 (B) ¥ 500

(C) ¥ 800 (D) ¥ 400

ufz 15 79 7 24 wiEgemd M 36 F=F fwd wW w=
ufafes 8 w2 @ 7w 12 fAf & %7 w=%a ¥ 12
Hfgend ©F 6 FEF F WH fF qEw W wm W
T =t W wfefEe 6 =2 %W w1 T F e
% 2T W A 30 fedl # o 1 2

(A) 4 (B) 8

C) 6 (D) 10

¥ 1586 1 74 9 | 77 W famtam w1 F 5%
wiEy WA =E H T " A A wmEe: 2,
3UH 499 % IWIA UH WA BlY

(A) T 552, T 528, T 506

(B) ¥ 560, T 520, ¥ 506

(C) ¥ 556, F 524, ¥ 506

(D) ¥ 548, T 528, T 510

Tl 7ot % =E TR S T UH TH S A 2
A, B3N CdF =afae § 9 A UF AR 9§ a4
B 3 ¢ 7 = W 1 =1f|@ B, £ABC = 30° 7m
& MAfE C, FACB=60°TH & 95 B 3R C 1%
T H 60 HiEt ¥ #, df Te H AIEE § -

(A) 32 =2 (B) 62 Ht=%

(C) 26 Tzt (D) 23 Ht=1

AXYZH, XM, FI7 X F1 FHEAF & 3 AB, XM
W ey A T g D W e &, @ frefafea
o & W FeE T 7

(A) XD = DM (B) YM = MZ

(C) XA = XB (D) DM = BZ

AABCH, /BUmFm, ABT feq s fag D #

T BD = BC = 33 "=t = %MD+AC}IH‘&EH:‘I
B T |
(A) 762 Hi=w
(C) 726 H=¢'

(B) 276 ==t
(D) 672 ==
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95,

56.

57.

58.

59.

Bl.

AB & CD are two parallel chords of a circle
in which AB = 10 cm and CD = 24 cm. If
these chords are on the opposite side of the
centre and the distance between them is
17 cm, then the radius of the circle will be —

(A) 11 em B) 13 cm
IC) 12 cm (D) 10 cm

There is a pole inside a scalene triangular
park ABC. If the angle of elevation of the
top of the pole from each corner point is
equal, then the position of foot of the pole

in the park ABCis -
(A) at the centroid

[C) at the incentre (D) at the orthocentre
The value of

152(sin 30° + 2cos” 45° + 3sin 30°) + (4cos”’ 45°
+oainns + 17sin 30° + 18co=s? 45%) is —

[A) integer but not a perfect square

(B) rational number but not an integer

(C) perfect square of an integer

(D} irrational number

If x=

Z2=rcosp, then

A) @+t +2=1

(B) at the circumcentre

reinfcosg, y = r sinfsing and

(B) &+ 12 — zi r

Clx-y+==r D=+ —x=
4ab
If = = , then the walue of
a+hb
x+2&+x+2b . al t
x-2a x-2b 1S equ ©
(A) O (B) 1
(C) 2 (D) None of these
. 1 1
The roots of the equation pig+x = p +
1 1
q+x are
Pq Pq
— — B + 3 —
W piq' p-q Blpta.pr-g
1
Find the radii of the inscribed and

circumscribed circles to a triangle whose
sides measure 21 cm, V2 cm and 75 cm

respectively.
(A)9cm, 37.5cm  (B)8cm, 13 cm
C)19cm, 12cm (D) 6 cm, 15 em

If a+ b+ c =

[s—af +{s—B +(s—cf +5

a +b +c
A ad+b+ (B} O
(€)1 (D) 2

25, then what will be

63.

B83.

6.

67.

The area of a rhombus iz 4800 m”, and the
side is 40 m. Find the diagonals.

(A)85.8m, 124 m (B] 145.83 m, 65.83m
(C)33.9m, 117m (D) 38.7m, 128 m
The ratio of the product of roots and the sum

4
of roots is 4 —of a quadratic equation awd + bx
5

+c=0. If one root is 8, find the other root.

A) — B) 2
) B) 5

8
(C) 12 (D) 5

If (x + p) be the H.C.F. of x* + bx + c and
x + Ix + m, then the value of 'p is

b+m b-m

(A

b+m
c+l

I€)

In the given AABC, Z is the mid-point of
the median AD. If the area of AABC is
18 m?, find the area of ABZC.

(A) 36 m? (B) 9 m*

(C) 18 m? (D) 72 m?

In the quadrilateral ABCD, B = 90® and
AD? = AB? + BC? + CD?, then find the
measure of £ ACD.

D
“c
(A) 45° (B) 60°
(C) 90° (D) 30°
If (1+sine)(l+sinp){l+siny]=(1- sina)

(1 —sinp) (1 —=siny) then each side is equal

to -
(A) tcosacosfeoosi (B] £sinasinfsini

(C) tsinacosfcosi (D) tsinosinfcosh
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L . | 62. Tt TEmEgdw = dwe 4800 = Hier § AW IEET
54. mﬁRCP:ﬁaﬁﬁﬂwm%,ﬁﬁ Rt SO S
AB = 104! 71 CD =24mﬁ#§' T, A% A (A) 65.8 7, 124 (B) 145.83 T, 65.83 Tt
7 % foradhy it A 91 31 7% A %1 (C)33.94, 1179 (D) 38.7 7, 128 #t

1730 2, 3 = 37 #1 e @ 63. TEE WHF o + bx+ c = 0% e F UEE

(A) 11 #Ht (B) 13 @t .
. _ AR geil F =AM F A 4— B A TF g4 8=,
(C) 12 =t (D) 10 st i L 2
X ‘ _ Gil-cal R g
55. Tdl faumar fAqaFr 9% ABC & A TF @
T = B A B § =Y % e I (A) é {B]%
THA E, 9 U ABC H WY F YW H T F -
(A) F2F W (B) fE= W (©) 12 {D]%
C) #d: F=2 W D) @4 2% W
£ _ . & . | 64, TR+ bx+ eI E + Lo+ m T HoTo (x+ p) 7,
56,  152(sin 30" + 2cos” 45" + 3sin 307 + [4cos” & PET AR ¥ -
45° + ..... + 17sin 30° + 18cos? 45°) &7
" B b+m b-m
(A) gUi W qU =9 TR
(B) wfida wen =g o =i ©) b+m D) =2
[a) o P E‘+! b_i
(C) TFet quis =1 qui = i
(D) srofea 65. % T AABC #, mferst AD #1 meAfag Z 21 7=
AABC =1 #3%a 18 =71 #di=3 &, @1 ABZC =1
57. 4% x = rsinfcos¢, y = r sinp sin ¢ 1 SR T -
E= rcusﬂi’.?ﬂ

A)xX+y+2=r [Bjxr+y-==r
[C)xX-y+2Z=r DZ+y-x=r

R ih=ae=hal
(A) O (B) 1
(C) 2 (D) 57° | T & (A) 36 Hr= .
50. wET —— = ~+ —4l @ - (€) 18 77 iz ) 72w
prave B4 x 66. 4% ABCDH, B =90° 37 AD” = AB* + BC?

+CD*%, @ LACDFTIAM % -

Pa__pgq
—?— B + -
W hig'p—q Blp+a. pr-q
1 1
€ 253’ p-q (D) -p, —q

60. 21 Hmter, 72 HaEe @R 75 el qu A
e % w=aa o afigm 7 fend g -

(A) 9 B, 37. 55 (B) 8 |HI, 13 HHI (A) 45° (B) 60°
(C) 1944, 1289 (D) 6 54, 154 (C) 90° (D) 30°
- . 67. AfE (1 +sina)(l +sinf)(l+siny)=(1- sina)
. [s- - - +5
6l. AZX a+b+c=25%, s aﬁf;;:ﬁ 9 (1 -sinp) (1 - siny) T %% 74 fFas T
1 HH B - e
A) @+ B+ & (B) 0 [A) tcoswcosfcosi (B) fsinasinpsini
(€)1 (D) 2 [C) £sinacosfcoshk (D) tsinasinfcos i

For latest update on our website like us on facebook — www.facebook.com/cgl.ssc2014




For more free Study Material, Mock Test Papers, Audio & Video Tutorials and ssc news visit

www.ssc-cgl2014.in

69.

70.

71.

T2.

A tree standing on a horizontal plane is
leaning towards east. At two points situated
at distances a and b exactly due west of it,
the angles of elevation of the top are
respectively o and p. Then the height of

the top from the ground is
(b—a)tan o tan (b +altana tanf

tano —tanp

(A) tano —tanp

btana +atanp btana —atanp

(€)

tana —tanf tana + tanp

If the points (p, g}, [m, n) and (p —m, g — n)
are collinear, then pn is equal to

[A) O (B) gn

(€) gm D) -1

Let the opposite angular points of a square
be (3, 4) and (1, —1). Find the coordinates of
the remaining angular points.

1) [_ 3 1)

3
{A:[Esa; and 55;

In the given figure, XY | | AC and XY divides
triangular region ABC into two parts equal

- Determine
1IN area. elermine ;‘-'LB N
A
x
B Y C
J2-1 J2+1
(A) 2 (B) 2
o Z«E n 2
(€ 1.5+1 @) 2+a..l'§

PBA and PDC are two secants. AD is the
diameter of the circle with centre at O.
LA =40 <SP =20° Find the measure of
£ DBC.

20

(A) 45° (B) 30°
(C) 60° (D) 75°

74,

Ta.

T6.

7.

78.

9.

820.

O is the centre of the incircle for A ABC.

Find £ BOC if £ BAC = 407

(A) 90" (B) 70"

(C) 130" (D) 1107

A right angled triangle of which the sides
containing the right angles are 36 cm and
15 cm is made to turn around on its
hypotenuse. Find the volume of the solid

generated.
(A) 8737 cm? (B) 7837 cm?®
(C) 7837 cm’ (D) 8377 cm’

Find the volume of a pyramid formed by
cutting off a corner of a cube whose edge is
8 m by a plane which bisects three edges
having a common boundary.

(A) 8.37 m* (B) 10.67 m*

(C) 11.20 m® (D) 9.68 m"

If ¥ - 3x + 2 is a factor of the polynomial,
fix)= 2" - 55" + Ax’ + Bx® + 4x— 40, then the
value of A and B are -

(A)-30, - 50 (C)—40,-40

(C)—20, - 60 (D) - 10,-70

Solve for x if

x+a_.x—b=2{r.1+b]|

x—-a x+b x

A ab B at+h
(A) a+b (B) ab
e a—-b O ahb

€~ D) 34

If sin(@0°-8) =cos(¥ —307), then tan(¥ —8)is

(assume g and W be two positive acute

angles, whereg - g0°and ¥ - 30°)—

1
A 75 (B)0
(C) 43 (D) 1

The value of
cos Alsin A+cosA)  sin’ Alsin A =cos A) ]
+ - 14
cosec’ Alsin A—cos A) sec A (sin A + cos ﬁn]]

[sec’ A= cosec’ A) {5 -

(A) 1 (B)3

(C) 2 (D) 4

If ! - ! - 1 ! =0, find "x
x+1 x+2 x+3 x+4 ° e

1 1

i Yl —3=

(A) 2 (B) ~3

C —ll D) O

(€ -15 (D)
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69,

70.

T1.

T2.

#ifra woes W fom v Uz 0@ TR w1 oW g
TN #1 9T F AR A 3R b W e A fam
T THF WY T T TN FAN: o 2 pE A AN
Y v # F9E € -
(b—a)tanatanf
tano —tanp

(b +altana tanf

1) tano —tanp

btana +atanp btana —atanp

tana —tanp tana + tanf

% fa=u (p, q), (m, n) &R (p - m, q - n) TET

l pn T % -
(A) O (B) gn
(C) gm (D) -1

M R Tt = = fawie w5 fag (3, 4) 2w
(1,-1) %1 9 i fag & Fdams frre

(3 14 ([ 3 1)
W55 #{"55
(9 1} 4 I'_i_E]
B) {373 {7373
(91 . (15
© |33} {33
((91) wf 15
D) |75 {755

4 wg e W, XY || AC s XY fqemEn &=

ABC T & TR Syt ¥ Pref w1

AR
FIAA T -
A
X
B v C
J2 -1 V241
A) I5) (B) 2
2,2 2
© V2 +1 D) 2442

PBA 3t PDC =t fod= tamavs #, AD 99 #1 =94
tfamm = 081 LA=40"31 2P =20"%
Z DBC %1 Am =)

(A) 45°
(C) 60°

(B) 30°
(D) 75°

74.

5.

76.

77,

8.

79.

80.

AABC % 3=: 99 =1 %= O %1 £ BOC fm
Tf% £ BAC = 40° 31

(A) 90° (B) 70°

(C) 130° (D) 110°

Tt wosm frgw | Som a9 T e HmEen
36 W 3R 15 B &) favs % famot =t s
HAFL YAE TN TH WER W WS BH AT
e |

(A) 8737 guP (B) 7837 gur

(C) 7837 4w (D) 8377 g4HP

8 Hi=T O A 9 F U A 1 R 965w g
Fre T s e st o v qEnet =
wafgeafem wat &, 1 s @

(A) 8.37 #t° (B) 10.67

(C) 11.20 #v (D) 9.68 HI°

AqfE AETR fix) = 25— 5x' + Ax® + Bx® + 4x— 40,
T K -3x+2 B, A AFBE -

(A) - 30, - 50 (C) — 40, — 40
(C)-20, - 60 (D) - 10, -70O
% frm g@ =1 3fE
x+a x-b 2a+bh) 4
x-a x+b #
ab a+b
(&) a+b ® ab
a-b ab
© ©) 5
% sin(60°-0) = cos(¥ - 30°) , T Lan['-{'—ﬁ]% :

(WA & T @ #R @ IE AT gEEm T,
A6 < 60° 3 W > 30° F)I

1
A 73 (B) 0
(C) 3 (D)1

cos” Alsin A+ cos A)  sin’ Alsin A—cos 4)
+
cosec” A (sin A=cos A} sec” A (sin A + cos A)

(sec” A —cosec” A) F1 HH ® -

[A) 1 B3
(€) 2 (D) 4
1 1 1 1 o
x+l_x+2_x+31—x1—4 =D%.?ﬁ x
oA #
1 1
(A) -2 (B) -3
C —1l D)0
(© -1 (D)
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81. Ify= 5-325-35. then find the value of 87. The perimeters of two similar triangles ABC
) _ 1512 + 60y + 40 and POR are respectively 36 cm and 24 cm.
IR TS If PQ = 10 cm, find AB.
(A) 40 (B) 60
(C) 70 (D) 50 (A) 18 cm (B) 15 cm
82. Two circles touch each other internally. (C) 16 cm (D) 12 cm
Their radii are 2 cm and 3 cm. What will
be the length of the longest chord of the | 88. In trapezium ABCD, AB | | DC and DC =2AB.
bigger circle outside the smaller circle? EF drawn parallel to AB cuts AD at F and BC
BE 3
(A) 2y2cm (B) 3y2cm at E such that EC- 3 Diagonal DB
(C) 23 cm (D) 442 cm s
83. A circular entrenchment, 54 m in ntesects SralS i FE
diameter, is to surrounded by a ditch 8 m
wide at the top and 6 m wide at the bottom, 16 i
and 5m deep. Find the volume to be A (B) =
excavated. 7 7
(A) 8620 m* (B) 6820 m*
3 4
(C) 2860 m* (D) 2680 m* (C) 7 (D) 1o
84. Find the area of the whole surface of a
triangular prism whose heightis 30 m and | 89. Two poles of heights 'a’ metres and 'b’
the sides of whos.e base are 21m, 20 cm metres are p metres apart. Then the height
and 13 m respectively. of the point of intersection of the lines
(A)1827 m? (B) 2718 m? joining the top of each pole to the foots of
(C)1872 m? (D) 1728 m? the opposite poles is —
85. Ifasecf + btang + c =0 and p secf + a<b ab
qtan@ +r =0, then find the value of (A) ab (B) a-b
(br - qc)* - (pe —ar)’.
(4) (aq + bp)* (B) (aq - bp)’ e et D)
i 3 ab a+b
(C) (aq + bp) (D) (aq - bp)
86. In the given figure, AABC is right angled | 90. A ladder rests against a wall at angle '« 'to
at C and DE L AB. Find the lengths of AE. the horizontal. Its foot is pulled away from
A the wall through a distance 'a’, so that it
slides a distance 'b' down the wall making
E 3 cm a
an angle B with the horizontal. Then e
D
2cm
-~
B 12 cm C cos a —cosf cosp}-cosa
(A) sinf —-sina (B) sina —sinf
A) AE = 18 B) AE = 19
i T L R T
cosp} +cosa cosa +cosf
) 11 (C) sina +sinfp sinf} +sina
(C)AE=Ecm (D)AE=Ecm

For latest update on our website like us on facebook — www.facebook.com/cgl.ssc2014




For more free Study Material, Mock Test Papers, Audio & Video Tutorials and ssc news visit

www.ssc-cgl2014.in
b============================================================‘
81. ARy=5-325-35 & y' - 154+ 60y +40 | 87. 7 THEY fag9 ABC W PQR #F1 uifafa wmw:
F1 7A fame) 36 T 37 24 AT 71 2fE PQ = 10 W=
(A) 40 (B) 60 2, @ AB %1 519 ¥ -
(C) 70 (D) 50 . "
(A) 18 Hdvir= (B) 15 "ty
82. % #¥ ITAfEh ®Y W UH g6 H W99 FE &) IAH!
(C) 16 Ftdter (D) 12 #Hrsdtzx
B 2 it oI 3 @t 21 srafE 99 F A ag g9
88. TwWerm wgys ABCD ¥, AB | | DC 3fR DC =2AB
1 T 72t Sfan frat oA #1 et %1 AB % T9i® EF @1 51 £ 5 AD #7 F 3it BC
(A) 242 Tt (B) 342 &t FEfE R T e fE %=%%n
(€) 2/3 ¥ (D) 442 ¥t foh DB, EF %1 G s 7 &, 1 2 e
83. 54 iz =9 ® TH JURN @E-F41 & 9 AR Tl
T TEE FI VG 8 Hiet W1, AN 6 e |ign i i
TEME 5 et 71 @R T MER w1 e el (A) — B) -
(A) 8620 Hi=T (B) 6820 Hr=T
(C) 2860 Tz (D) 2680 Hi=T' 3 7
Z o . ;5 C) = D) —=
84. wH Taqemen fiow = Ul &3 1 &Ewa e 7 ®l 10
foa®t Fa1 30 Hiet T IR FT [0 e 21 ‘ o o
T, 20 Hiew 3 13 T § - 89. a#R bW F FAE F T WY UF W F p A F
(A)1827 Hizr* (B) 2718 H=T’ @W@%ﬂ@ mﬁmg{mmmmﬂ
FI 91 T @Y F ¥ F wwd @9 F SR H e
(C)1872 Hzr (D) 1728 Htzr archt Tae # osmmm o gfrsdw oAt fag
85. 7ff a secg + b tang +c=03ﬁ?psece+ FAEE -
qtang +r=0,, (br—qc)“—(pc—ar)laﬂm%- "
= b
(A) (ag + bp)? (B) (aq - bp)’ B = B) ——
(C) (ag + bp)* (D) (aq - bp)*
86. % T smEfa #, fIYF ABC F1 M C THHM A4 () a;bb (D) aafb

DE | AB #| AE %1 & &

A
E 3§
D\A
2 i
-
B~ 12am ©

15 . 13
(A) AE = 1—3mﬁ (B) AE = l—smﬁ
11  § G
(C) AE = Emﬁ (D) AE = 1%

90.

TF i AaE € o B0 W FE dEn $ wen gl
21 HId % SR F AR F SR W a T g Ee
W 3EF Vi @R W b 3HE A4 fEws o 6 2 @R

M YR U Tad ¥ g F0 T 2, @ %=?

cosa —cosp

W g e (B)

sinf} —sina

cospp-cosa
sinua —sinf

cosf + cosu cosa +cosp

(D)

sina +sinfp sinf +sina
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Dlrect_i.nna (91-95): Study the following pie ch,art table carefully and answer the fu]lurwmgl
| gquestions.

| The following pie-charts show the number of tourists who visited India from different countries I
from different age groups (the age group criterion applies uniformly to every country) in the

I financial year 2001-02.

Tourists from
different countries

If the number of tourists of age group
(31-45) from England was 5760, then find
the total number of tourists who visited

India from USA.

(A) 18000 (B) 20571

(C) 20000 (D) 18473

If in the financial year 2001-02, the total
number of tourists was 2000, then find the

number of tourists of age group more than
60 years from China.

(A) 640 (B) 1275

(C) 63T (D) None of these
Find the ratio of the age group (16-30) from

Japan to the age group (0-15) from USA, if
the no. of tourists from France was 7500.

(A) 425 : 256 (B) 325 : 256

(C)15: 16 (D) 256 : 441

L—————————————————-

04,

Age Groups

From which of the following countries did
India earn the maximum revenue?

(A) Rest (B) USA

(C) Japan (D) Can't say

If the number of tourists from China was |
7980 then find the number of tourist from |
rest of the countries of the age groupl
(16-30).

(A) 1578 (B) 1598

(C) 3620 (D) 1568

-—————————————————J
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o (W "= 91-95 ) Frefafan v smta andt & s & ot e fad moawt @ e 2 |

01.

Q2.

93.

— — — — — —— —— — — — —— — ——

Foreftar & 2001-02 % SrerT-s7erT 29T # G I Fafir= g A (g 7w gHE I

A (31-45) 3 T F T H AW THH] F
HEn 5760 9, 7 HqE T A0 § 96 0
& Tl ®1 He )

(A) 18000 (B) 20571

(C) 20000 (D) 18473

afy fasita &4 2001-02 H, & THF =1 Hen
5000 =i, @ 99 ® 60 79 | AfUF A 7 ®
et 3 T o -

(A) 640 (B) 1275

(C) 637 (D) 9 | FE TE
FH F (16-30) AR T T T R T G
T (0-15) ¥y 71 F wE w1 s e oy
TIH | A0 TdEE wt HE=m 7500 @i

(A) 425 : 256 (B) 325 : 256

(D) 256 : 441

THGWA &) el ®i HEHT i g9 ARG GAT FET T E

o4,

95.

frefertaa 3 o @ fe 39 ¥ 9ng =1 gaias
T 9T A -

(A) #T=1
(B) W T2 sTft (Joumcto)
(C) =T

(D) ®8 &l %8 AFd

2 <7 | ST el #1 H=n 7980 4 4 (16 - 30) |
s W o A W e vz # wen fre) |
(A) 1578 (B) 1598

(C) 3620 (D) 1568
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Directions (96-100): Study the following graph carefully and answer the following questions I
based on it.

0
o

\0
™~

0
Lo

The following pie-charts shows the percentage of number of students passed in PO |

The following graphs shows the percentage of students who passed their graduation
(Freshers) in 1999,

examination from different parts of the country in 1999.

30+

2354

20+

20
15+
15 .
54
‘:I' L} T T T 1
Bihar Up Orissa WB Others

Ifin 1999 the total passed candidates from | 99. If there is an increase of 10% and 20% |
different pars of the country was 650, then candidates from Bihar and Others in the |
h'f"w SRy nun—freshe:r_ caqdldgtes from year 2000 respectively, and the number |
Bihar passed the examination in 19997 of total passed candidates from Orissa in
(A) 200 (B) 195 1999 was V7, what would be thEI
(C) 198 (D) 204 approximate total passed candidates from I
If in 1999 total no. of freshers from WB Bihar and Others in 20007 |
was 160, then how many non-fresher I
candidates passed the exam from Others? 4210 (=} 480 I
(A) 1398 (B) 1588 (C) 450 (D) 500 |
C) 640 D) 1408
©) () 100. If the non-fresher candidates from UP in I

If total passed candidates from UP in 1999
was 112, what is the ratio between the
no. of freshers from Bihar and that of non-
freshers from Orissa?

(A) 760 : 187 (B) 187 : 760
(C)40:11 (D) None of these

1999 was 60, how many candidates passed

the exam from all parts of the country?
(A) 400 (B) 300

|
(C) 350 (D) 450 I
-
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I
|

96.

Iﬁﬂ‘ﬂ(mmqrﬁ 100 ): ﬁmﬁfﬁamﬁaﬁwﬁmuﬂaﬁrwmm&ﬁaﬁﬁqmwﬁ%ml

ad 1999 #, 391 & fafe= wmil @ Fﬂuﬁwﬁﬁﬁﬁiﬂﬁaﬁrmﬁﬁmﬁﬁﬂﬁﬁaﬁﬁ=
| FE grT wEr T

H
25%
9
10%
LS
11% [ 16%

Frofafiaa amE ¥ 99 1999 H =ias I00T &34 =16t ( W9 ) BIEt $ wiayar sy we -

S04

25

254

204

38%

25

fagmw 3w wRW

afz @4 1999 ¥, % % fafe= =i 9 I+ g0
IEEAN F1 Fd 9= 650 o, 9 1999 § faER
q IEM A T A-RYR SEiEn 4-

(A) 200 (B) 195

(C) 198 (D) 204

otz 1999 | ufy=dl =& | Wyl 1 & Hem
160 €, @ w1 1 T 29 T S6-wen FodteEn
F1 T 4 -

(A) 1308 (B) 1588

(C) 640 (D) 1408

#f% 1000 & I Wi | T B T e SR
F1 HE= 112 i, 7 fAER = w26 uw s
F AA-TIE BE AU B -

(A) 760 : 187 (B) 187 : 760
(C)40: 11 (D) 579 & FrE

<

99,

100.

=T i

afz 74 2000 ¥, faer & 19 1= A0 ° IEEAn |
1 Ten § w9 10% TH 20% %t afg @9t £ v |
41999 | FTEA H IAM T A6t Fol IHEAN H
HeEm 77 4, & faen vd s am | 3wl BE oA
IHEAR F FE HE T ER -

(A) 210 (B) 480
(C] 450 (D) 500
7fz 3% 1990 § T =W ¥ "AT-HIR TH=an ®1

wEn 60 o, 7 0 F Wit w9 | I A A

(A) 400 (B) 300

(C) 350 (D) 450
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